This is an open-access article under the CC BY-NC-ND license

 Issue VII, November 2024

 e-ISSN 2707-9481

 Institute of Metallurgy and Ore Beneficiation JSC, Satbayev University, Almaty, Kazakhstan

 ISBN 978-601-80473-3-6

Gulzhaina K. Kassymova

Abai Kazakh National Pedagogical University; Institute of Metallurgy and Ore Beneficiation JSC, Satbayev University, Kazakhstan E-mail: g.kassymova@abaiuniversity.edu.kz ORCID ID: https://orcid.org/0000-0001-7004-3864

Muhammad Nursa'ban

Yogyakarta State University, Indonesia E-mail: m_nursaban@uny.ac.id ORCID ID: https://orcid.org/0000-0003-3870-9085

Samal B. Suleimen

Faculty of Pedagogy and Psychology Abai Kazakh National Pedagogical University, Dostyk Ave 13, Almaty 050010, Kazakhstan E-mail: samalka___94@mail.ru ORCID ID: https://orcid.org/0000-0001-8523-0478

Fina Rifqiyah

Yogyakarta State University, Indonesia E-mail: finarifqiyah.2022@student.uny.ac.id ORCID ID: https://orcid.org/0000-0002-4682-1192

Jumriani Sultan

Yogyakarta State University Email: jumrianisultan.2022@student.uny.ac.id ORCID ID: https://orcid.org/0009-0008-0690-1535

Evaluating Student Self-Management, Interpersonal Skills, and Academic Behaviors

Abstract: This study examines the relationships between student self-management, interpersonal skills, and academic behavior through detailed statistical analysis of survey data. The survey used a Likert scale ranging from "strongly disagree" to "strongly agree" to assess respondents' perceptions of these three areas. To analyze the data, we used the JASP Frequencies: Binomial Test function, which was specifically designed to calculate confidence intervals for the proportions of responses at each level of agreement. The analysis involved calculating 95% confidence intervals for the proportion of respondents who selected each Likert scale category for each survey item. These intervals provide a range within which the true proportion of responses may fall, offering insights into general trends and the distribution of respondents' views. In addition, we used the Vovk-Sellke maximum p-ratio to further interpret the significance of the results to help understand the strength of the evidence against the null hypothesis. This exploratory analysis not only demonstrates the variability and reliability of respondents' responses, but also provides a deeper understanding of how students' self-management, interpersonal skills, and academic behaviors are perceived at different levels of agreement. Using these statistical methods, research aims to uncover patterns and relationships in the data, thereby contributing to a deeper understanding of the factors that influence student achievement.

Keywords: self-management, interpersonal skills, academic behaviours, students, education.

Introduction

The multifaceted nature of student academic success in modern educational institutions goes beyond academic performance. Educators and researchers increasingly recognize that self-management, interpersonal skills and academic behavior play an important role in shaping students' overall educational experiences and outcomes. Understanding these factors is critical to developing effective support systems and interventions that enhance student empowerment and performance. Self-management, which includes skills such as time management, goal setting, and self-regulation, is fundamental to academic success (Sholikah et al., 2021). Self-management is an important factor in academic success, with evidence that self-directed growth goals have a significant impact on academic performance. Katz et al. (2019) found that approximately 20% of students' self-reported growth goals were directly related to their academic

performance, indicating a strong impact on achievement during reflective programs. This highlights the importance of self-management in academic settings and suggests that developing such skills can lead to improved educational outcomes. Students who manage their time and resources effectively are better equipped to meet academic demands and achieve educational goals.

In addition, Ghiasvand et al. (2017) studied a correlation between time management skills and academic motivation, indicating that students with good time management skills have lower anxiety levels and higher motivation. This finding is consistent with the notion that self-efficacy may alleviate negative emotional states such as test anxiety, which a significant percentage of students reported experiencing at moderate to severe levels. Similarly, interpersonal skills, including communication, teamwork, and conflict resolution, are critical to navigating collaborative learning environments and building positive relationships with peers and educators. Academic behaviour, which includes study habits, attendance, and engagement with course materials, directly affects student learning and outcomes. By examining how self-management and interpersonal skills intersect with academic behavior, we can better understand the factors that contribute to student achievement and well-being.

This study aims to assess these three important dimensions — self-management, interpersonal skills, and academic behaviors — through detailed statistical analysis of survey data. By classifying the survey questions into these three domains and analyzing the responses using JASP computer software, the study attempts to uncover patterns and relationships among these variables.

Research hypothesis: Students with high self-management skills will demonstrate positive academic behaviour and strong interpersonal skills. Specifically, students also report higher levels of agreement with statements related to effective academic behavior and positive interpersonal interactions. This hypothesis provides a basis for examining self-management and academic behavior and interpersonal skills and whether these dimensions of student behavior are related.

Research Methodology

The research design consists of several stages such as literature review, questionnaire development and categorization of the survey questions into three parts - self-management, interpersonal skills and academic behaviors of students. Respondents were asked to choose one of the Likert Scale multiple answers from strongly disagree, disagree, neutral, agree and strongly agree to the presented statement. Consequently, based on the obtained research results, a statistical analysis was performed. Calculations were carried out by JASP computer software (Version 0.18.3) and presented in the form of tables.

Research tools. Nyaga et al. (2014) developed the Metaprop Stata command to perform a metaanalysis of binomial data to test the proportion significantly different from the specified value. This tool allows researchers to combine and analyze binomial data from multiple scientific works. It has been widely used in various fields and has attracted the attention of several scientific studies. This study analyses the research results using the Classical Binomial Test of the JASP Version 0.18.3 computer program. Proportions tested against value 0.5. The Vovk-Sellke Maximum p -Ratio was based on the p-value, the maximum possible odds in favor of H₁ over H₀ equals 1/(-e p log(p)) for $p \le .37$. The Vovk-Sellke Maximum p-Ratio is a fundamental statistical concept (Sellke, Bayarri, & Berger, 2001).

Research Questionnaire and Samples. The survey was conducted among 65% of local and 35% of international students to identify student activities and motivation for future action if there is a need to change the education system. During conducting the survey, the majority of respondents admitted that they had never missed their lessons at the university. This can be concluded that they were motivated and engaged with internal interest. The sample size included 47% of the first-year and 53 % of the second-year students from the Department of Pedagogy and Psychology at Abai Kazakh National Pedagogical University in the academic year 2023-2024. The samples were randomly selected among 12% of male and 88% of female students. The survey items were 20 about Self-Management (7), Interpersonal Skills (6) and Academic Behaviors (7). The survey questions were slightly modified from analogous earlier research studies and answered in English. The Likert scale (strongly disagree, disagree, neutral, agree and strongly agree) was used to gather data about students' attitudes and opinions regarding the learning process.

Research Results and Discussions

Self-Management of Students. This part of the study aims to comprehensively explain the various factors that influence students' self-management, focusing on self-directed learning, intrinsic motivation and

self-regulation. The influence of using the Internet by students has an effectiveness of self-regulation (Lavrinenko et al., 2019). Self-directed learning is critical to student development and academic achievement. Pol, Volman, and Beishuizen (2010) pointed out that people learn better when they are in control of their learning experience, which highlights the importance of self-management in educational settings. Gureckis and Markant (2012) further supported this idea by finding significant correlations of situational interest and self-regulation with various types of activities, including behavioral, emotional, and cognitive relationships. This shows that independence in learning and the ability to regulate one's own learning process have a positive effect on student activity.

In addition, teachers' autonomy support plays an important role in influencing student engagement. Bartimote-Aufflick et al. (2016) emphasized the importance of autonomy-supportive learning, which includes intrinsic motivation and autonomy-satisfying instructional behavior that supports internalization. The authors noted that such learning experiences contribute to students' self-efficacy and overall engagement in learning activities. Muenks, Wigfield, Yang, and O'Neal (2017) and Geng, Law, and Niu (2019) emphasized the importance of intrinsic motivation to students' personality traits, self-regulation, and goal achievement. This shows that building intrinsic motivation among students is important for their overall academic and personal development.

							95% CI for Proportion	
Variable	Level	Counts	Total F	Proportion	р	VS- MPR*	Lower	Upper
I can resist doing something when I know I should not do it.	Agree	7	16	0.438	0.804	1.000	0.198	0.701
	Disagree	2	16	0.125	0.004	16.065	0.016	0.383
	Neutral	5	16	0.313	0.210	1.122	0.110	0.587
	Strongly Agree	2	16	0.125	0.004	16.065	0.016	0.383
I can calm myself down when I am excited or upset.	Agree	8	16	0.500	1.000	1.000	0.247	0.753
	Disagree	3	16	0.188	0.021	4.492	0.040	0.456
	Neutral	3	16	0.188	0.021	4.492	0.040	0.456
	Strongly Agree	2	16	0.125	0.004	16.065	0.016	0.383
I am a hard worker.	Agree	9	16	0.563	0.804	1.000	0.299	0.802
	Neutral	6	16	0.375	0.454	1.000	0.152	0.646
	Strongly Agree	1	16	0.063	< .001	93.747	0.002	0.302
I finish whatever I begin.	Agree	8	16	0.500	1.000	1.000	0.247	0.753
	Disagree	2	16	0.125	0.004	16.065	0.016	0.383
	Neutral	5	16	0.313	0.210	1.122	0.110	0.587
	Strongly Agree	1	16	0.063	< .001	93.747	0.002	0.302
I am diligent (hard-working and careful).	Agree	12	16	0.750	0.077	1.866	0.476	0.927
	Disagree	2	16	0.125	0.004	16.065	0.016	0.383
	Neutral	1	16	0.063	< .001	93.747	0.002	0.302
	Strongly Agree	1	16	0.063	< .001	93.747	0.002	0.302
Setbacks do not discourage me.	Agree	8	16	0.500	1.000	1.000	0.247	0.753
	Disagree	2	16	0.125	0.004	16.065	0.016	0.383
	Neutral	5	16	0.313	0.210	1.122	0.110	0.587
	Strongly Agree	1	16	0.063	< .001	93.747	0.002	0.302

Table 1. Self-Management

							95% Cl for Proportion	
Variable	Level	Counts	Total P	Proportion	р	VS- MPR*	Lower	Upper
I can do almost all the work in class if I do not give up.	Agree	12	16	0.750	0.077	1.866	0.476	0.927
	Disagree	1	16	0.063 <	< .001	93.747	0.002	0.302
	Neutral	1	16	0.063 <	< .001	93.747	0.002	0.302
	Strongly Agree	2	16	0.125	0.004	16.065	0.016	0.383

Table 1 is the survey results showing the proportion of respondents who agree, disagree, or are neutral with the statements regarding self-management skills and their 95% confidence intervals. In the context of survey results, 95% confidence intervals indicate the range of values within which we can be 95% confident that a true population proportion lies. For example, in the self-control section, the proportion of individuals who agree to resist doing something when they know they shouldn't do it has a 95% confidence interval of 0.198 to 0.701. This means that we can be 95% confident that the actual proportion of people who are likely to resist when they know something should not be done falls within this range. Similarly, 95% confidence intervals for other survey questions provide a range of values that may include true population proportions for a given self-management and interpersonal skill.

Interpersonal Skills of Students. Interpersonal skills are essential for students because they are essential for effective collaboration, communication, and empathy. Vogler et al. (2018) found that students who participated in service learning improved their interpersonal skills. This suggests that experiential learning opportunities such as service learning can have a positive impact on the development of interpersonal skills. However, Sadiku (2015) also emphasizes the importance of concrete skills such as reading, speaking, writing and listening in the classroom. Hobgood et al. (2010) focused on the effect of active listening on students' responses, especially on the repetition of the message. This study highlights the importance of active listening as a component of interpersonal skills. Weger et al. (2010) and Jones, et al. (2019) also found that active listening has a positive effect on empathy, which is an important aspect of interpersonal skills.

Jones et al. (2019) and Abe et al. (2018) focused on the effectiveness of targeted educational programs and the implementation of improvisation to teach communication skills and build empathy. Vogel et al. (2018) provided a new model that integrates personal and professional identities related to the intersection of multiple forms of motivation, encountering and resolving value conflicts, and developing interpersonal skills.

							95% (Propo	CI for ortion
Variable	Level	Counts	Total P	Proportion	р	VS- MPR*	Lower	Upper
I am comfortable interacting with people from a different racial or ethnic background.	Agree	5	16	0.313	0.210	1.122	0.110	0.587
	Neutral	6	16	0.375	0.454	1.000	0.152	0.646
	Strongly Agree	5	16	0.313	0.210	1.122	0.110	0.587
I can come up with new ideas.	Agree	11	16	0.688	0.210	1.122	0.413	0.890
	Neutral	2	16	0.125	0.004	16.065	0.016	0.383
	Strongly Agree	3	16	0.188	0.021	4.492	0.040	0.456
I like to imagine new ways to do things.	Agree	11	16	0.688	0.210	1.122	0.413	0.890
	Neutral	2	16	0.125	0.004	16.065	0.016	0.383

Table 2. Interpersonal Skills

						95% (Propo	CI for ortion	
Variable	Level	Counts	Total F	Proportion	р	VS- MPR*	Lower	Upper
	Strongly Agree	3	16	0.188	0.021	4.492	0.040	0.456
l am a creative person.	Agree	7	16	0.438	0.804	1.000	0.198	0.701
	Disagree	2	16	0.125	0.004	16.065	0.016	0.383
	Neutral	4	16	0.250	0.077	1.866	0.073	0.524
	Strongly Agree	3	16	0.188	0.021	4.492	0.040	0.456
When my solution to a problem is not working, I try to figure out what went wrong.	Agree	9	16	0.563	0.804	1.000	0.299	0.802
	Neutral	3	16	0.188	0.021	4.492	0.040	0.456
	Strongly Agree	4	16	0.250	0.077	1.866	0.073	0.524
I try to think of many solutions when I have a problem.	Agree	9	16	0.563	0.804	1.000	0.299	0.802
	Disagree	1	16	0.063	< .001	93.747	0.002	0.302
	Neutral	3	16	0.188	0.021	4.492	0.040	0.456
	Strongly Agree	3	16	0.188	0.021	4.492	0.040	0.456

Table 2 provides a summary of the survey results for various interpersonal skills, including comfort in interacting with people of different racial or ethnic groups, generating new ideas, imagining new ways of doing things, and creativity. These results show the proportion of individuals who expressed comfort in interacting with people from different racial or ethnic backgrounds at different levels of agreement. The confidence intervals that generate new ideas are as follows:

- For the "Agree" level: 95% CI (Confidence Interval) is between 0.413 and 0.890
- For the "Neutral" level: 95% CI is between 0.016 and 0.383
- For the "Strongly Agree" level: 95% CI is between 0.040 and 0.456

The research results found that the participants showed different levels of creativity. This suggests that participants had a range of levels of creativity, with some more inclined to agree with statements about creativity than others. The research findings show the multifaceted nature of interpersonal communication skills and various factors that influence their development among students. Historically, feminism has always been interpreted closely to the idea of unequal treatment towards women (Pertiwi et al., 2019), and upcoming research should comprehensively examine the role of individual differences, such as gender and personality traits, in the development of students' interpersonal skills.

Academic Behaviors of Students. Academic behavior plays a crucial role in students' overall academic achievement and success. Nonis and Hudson's (2010) research found that effective study habits and proper allocation of study time have a positive effect on students' academic performance. This shows that developing good study habits is essential for academic success. In addition, sleep habits have an impact on academic performance. Eliasson et al. (2010) found that earlier bedtimes and wake times had a positive effect on academic performance, suggesting the importance of healthy sleep habits in improving student academic performance. Boumosleh and Jaalouk (2017) studied the relationship between depression, anxiety, smartphone addiction and academic behavior among university students. The study found the negative effects of depression, anxiety, and smartphone addiction on students' academic behavior. Furthermore, Kecojevic et al. (2020) conducted a study on the impact of the COVID-19 outbreak on the mental health of undergraduate students. The results highlighted the adverse impact of the pandemic on students' mental health, highlighting the need for interventions to support students' mental well-being, which is critical to fostering positive academic behavior.

Tabla 3. Academic Behaviors

						95% CI for Proportion		
Variable	Level	Counts	Total P	roportion	р	VS- MPR*	Lower	Upper
I can learn the things taught in university.	Agree	11	16	0.688	0.210	1.122	0.413	0.890
	Neutral	4	16	0.250	0.077	1.866	0.073	0.524
	Strongly Agree	1	16	0.063	< .001	93.747	0.002	0.302
What we do at university will help me succeed in my life.	Agree	9	16	0.563	0.804	1.000	0.299	0.802
	Neutral	5	16	0.313	0.210	1.122	0.110	0.587
	Strongly Agree	2	16	0.125	0.004	16.065	0.016	0.383
How smart I am is something that I can change.	Agree	10	16	0.625	0.454	1.000	0.354	0.848
	Neutral	3	16	0.188	0.021	4.492	0.040	0.456
	Strongly Agree	3	16	0.188	0.021	4.492	0.040	0.456
I am good at figuring out the best solutions to problems that I am facing	Agree	7	16	0.438	0.804	1.000	0.198	0.701
	Disagree	1	16	0.063	< .001	93.747	0.002	0.302
	Neutral	6	16	0.375	0.454	1.000	0.152	0.646
	Strongly Agree	2	16	0.125	0.004	16.065	0.016	0.383
One of my goals in class is to learn as much as I can.	Agree	8	16	0.500	1.000	1.000	0.247	0.753
	Disagree	1	16	0.063	< .001	93.747	0.002	0.302
	Neutral	3	16	0.188	0.021	4.492	0.040	0.456
	Strongly Agree	4	16	0.250	0.077	1.866	0.073	0.524
I solve problems by first breaking them into smaller stepps.	Agree	7	16	0.438	0.804	1.000	0.198	0.701
	Neutral	5	16	0.313	0.210	1.122	0.110	0.587
	Strongly Agree	3	16	0.188	0.021	4.492	0.040	0.456
	Strongly disagree	1	16	0.063	< .001	93.747	0.002	0.302
I try things even I might fail.	Agree	5	16	0.313	0.210	1.122	0.110	0.587
	Disagree	2	16	0.125	0.004	16.065	0.016	0.383
	Neutral	6	16	0.375	0.454	1.000	0.152	0.646
	Strongly Agree	3	16	0.188	0.021	4.492	0.040	0.456

Table 3 presents frequencies and confidence intervals for academic behaviors related to learning, problem-solving, and self-concept. It demonstrates the following academic behaviors:

- believe in the ability to master what is taught at the university
- belief that activities at the university contribute to success in life
- understanding that intelligence is something that can be changed
- ability to find the best solutions to problems
- setting goals to maximize learning in class
- problem-solving by dividing problems into small steps
- willingness to try new things, even with the possibility of failure

The importance of proportions of agreement, neutrality, and strong agreement in the context of academic behavior provides insight into students' attitudes and approaches to learning and problem-solving. These ratios help identify patterns of academic behavior and can be used to evaluate the effectiveness of educational interventions or programs aimed at improving student attitudes and study habits. Over the past few years, many e-learning materials have been developed. Technology-enabled learning opportunities are widespread in the educational industry (Rohde et al., 2023), so future research should focus on identifying effective interventions to promote positive academic behavior, address the impact of technological advances on student engagement and learning behavior, and examine the role of teacher-student interpersonal relationships in shaping academic behavior

Conclusion and recommendation

The diversity of responses observed in the survey reflects the multifaceted nature of selfmanagement, interpersonal skills, and academic behavior among students. This variability reflects the complex interplay between individual differences and educational experiences. The study highlights the crucial role of self-directed learning, autonomy support, and intrinsic motivation in enhancing student selfmanagement capabilities. Educators are encouraged to develop strategies that promote independent learning and support independence, recognizing that students benefit from an environment that encourages independent thinking and self-regulation. In addition, fostering intrinsic motivation can increase student interest and self-motivation, ultimately contributing to academic achievement and personal growth.

However, the study also identifies several areas that require further investigation. For example, although surveys reveal the importance of self-management, there are gaps in understanding how different motivational factors and training methods affect self-management. Future research could examine how different educational strategies affect students' motivation and self-management skills in different contexts. Examining these aspects can provide a deeper understanding of how to adapt educational approaches to meet the diverse needs of students. By addressing existing gaps and exploring new dimensions, educators and researchers can collaboratively improve educational practices, ultimately leading to more effective and responsive learning environments.

Research limitations: The size of respondents is limited to 16 for this study as they were randomly responded. This means that it cannot be applied to the entire spectrum of the learning process. This study was completed within only one department of one university in Kazakhstan, and the findings may be influenced by individual characteristics and self-reports of the respondents. It is believed that self-reports might be inaccurate in responses.

CRediT author statement: G.K. Kassymova: Conceptualization, Validation, Writing draft preparation; M. Nursa'ban: Supervision, Data curation; S.B. Suleimen: Visualization, Investigation; F. Rifqiyah: Methodology, Reviewing; J. Sultan: Software, Editing.

Cite this article: Kassymova, G.K., Nursa'ban, M., Suleimen, S.B., Rifqiyah, F., Sultan, J. (2024). Evaluating Student Self-Management, Interpersonal Skills, and Academic Behaviors. *Challenges of Science*. Issue VII, pp. 38-45. https://doi.org/10.31643/2024.05

References

Abe K., Niwa M., Fujisaki K., Suzuki Y. (2018). Associations between emotional intelligence, empathy and personality in Japanese medical students. *BMC Medical Education*, 18. http://doi.org/10.1186/s12909-018-1165-7.

Bartimote-Aufflick K., Bridgeman A., Walker, R.A., Sharma M., Smith L. (2016). The study, evaluation, and improvement of university student self-efficacy. *Studies in Higher Education*, 41, pp. 1918-1942. http://doi.org/10.1080/03075079.2014.999319

Boumosleh J.M., Jaalouk D. (2017). Depression, anxiety, and smartphone addiction in university students - A cross sectional study. *PLoS ONE*, 12. http://doi.org/10.1371/journal.pone.0182239

Eliasson A., Lettieri C., Eliasson A. (2010). Early to bed, early to rise! Sleep habits and academic performance in college students. *Sleep* and Breathing, 14, pp. 71-75. http://doi.org/10.1007/s11325-009-0282-2

Geng S., Law K.M.Y., Niu B. (2019). Investigating self-directed learning and technology readiness in blending learning environment. International Journal of Educational Technology in Higher Education, 16, pp. 1-22. http://doi.org/10.1186/S41239-019-0147-0

- Ghiasvand, A.M., Naderi, Manijeh., Tafreshi, M., Ahmadi, F., & Hosseini, M. (2017). Relationship between time management skills and anxiety and academic motivation of nursing students in Tehran. *Electronic Physician*, Volume 9, Issue 1, pp. 3678-3684. http://doi.org/10.19082/3678
- Gureckis T., Markant D. (2012). Self-Directed Learning. *Perspectives on Psychological Science*, 7, pp. 464 481. http://doi.org/10.1177/1745691612454304

Hobgood C., Sherwoo G., Frus K., Hollar D., Maynard L., Foster B.B., Sawning S., Woodyard D., Durham C., Wright M., Taekman J. (2010). Teamwork training with nursing and medical students: does the method matter? Results of an interinstitutional, interdisciplinary collaboration. *Quality and Safety in Health Care*, 19, e25. http://doi.org/10.1136/qshc.2008.031732

JASP Team (2024). JASP (Version 0.18.3) [Computer software].

- Jones S.M., Bodie G., Hughes S.D. (2019). The Impact of Mindfulness on Empathy, Active Listening, and Perceived Provisions of Emotional Support. *Communication Research*, 46, pp. 838-865. http://doi.org/10.1177/0093650215626983
- Katz, D., Blasius, K., Isaak, Robert., Lipps, Jonathan., Kushelev, M., Goldberg, Andrew., Fastman, Jarrett., Marsh, Benjamin., & DeMaria, S. (2019). Exposure to incivility hinders clinical performance in a simulated operative crisis. *BMJ Quality & Safety*, 28, 750-757. http://doi.org/10.1136/bmjqs-2019-009598
- Kecojevic A., Basch C., Sullivan M., Davi N. (2020). The impact of the COVID-19 epidemic on mental health of undergraduate students in New Jersey, cross-sectional study. *PLoS ONE*, 15. http://doi.org/10.1371/journal.pone.0239696
- Lavrinenko S.V., Arpentieva M.R., Kassymova G.K. (2019). The negative impact of the Internet on the educational process. AIP Conference Proceedings, 2135(1), pp. 1-3. https://doi.org/10.1063/1.5120671
- Muenks, K, Wigfield, A., Yang, J.S., O'Neal C.R. (2017). How True Is Grit? Assessing Its Relations to High School and College Students' Personality Characteristics, Self-Regulation, Engagement, and Achievement. *Journal of Educational Psychology*, 109, pp. 599– 620. http://doi.org/10.1037/edu0000153
- Nonis S., Hudson G. (2010). Performance of College Students: Impact of Study Time and Study Habits. *Journal of Education for Business*, 85, pp. 229-238. http://doi.org/10.1080/08832320903449550
- Nyaga, V.N., Arbyn, M. & Aerts, M. (2014). Metaprop: a Stata command to perform meta-analysis of binomial data. *Arch Public Health*, 72, 39. https://doi.org/10.1186/2049-3258-72-39
- Pertiwi F.D., Sudrajat A., Kumalasari D., Retnawati H., Waspada S.P., Dossayeva S.K., Kassymova G. K. (2019). Gender equality in feminism. *Bull. Natl. Acad. Sci. Republic Kazakhstan*, 5(381), pp. 112–121. https://doi.org/10.32014/2019.2518-1467.130
- Pol J., Volman M., Beishuizen J. (2010). Scaffolding in Teacher–Student Interaction: A Decade of Research. *Educational Psychology Review*, 22, pp. 271-296. http://doi.org/10.1007/S10648-010-9127-6
- Rohde N., Flindt N., Rietz C., Kassymova G.K. (2023). How e-learning programs can be more individualized with artificial intelligence – a theoretical approach from a pedagogical point of view. *Muallim Journal of Social Sciences and Humanities*, 7(3), pp. 1-17. https://doi.org/10.33306/mjssh/240
- Sadiku L.M. (2015). The Importance of Four Skills Reading, Speaking, Writing, Listening in a Lesson Hour. *EJLS European Journal of Language and Literature Studies Articles*, 1, 29-31. http://doi.org/10.26417/EJLS.V111.P29-31
- Sellke Th., Bayarri M.J., Berger J.O. (2001). Calibration of ρ Values for Testing Precise Null Hypotheses. *The American Statistician*, 55 (1), pp. 62-71, https://doi.org/10.1198/000313001300339950
- Sholikah, M., Muhyadi, M., Indartono, S., Kenzhaliyev, O. B., & Kassymova, G. K. (2021). Self-efficacy and student achievement for enhancing career readiness: The mediation of career maturity. *Jurnal Pendidikan Teknologi Dan Kejuruan*, 27(1), 15–25. http://doi.org/10.21831/jptk.v27i1.35657
- Vogel, D.A., Meyer M., Harendza S. (2018). Verbal and non-verbal communication skills including empathy during history taking of undergraduate medical students. *BMC Medical Education*, 18. http://doi.org/10.1186/s12909-018-1260-9
- Vogler J.S., Thompson P., Davis D.W., Mayfield B., Finley P.M., Yasseri D. (2018). The hard work of soft skills: augmenting the projectbased learning experience with interdisciplinary teamwork. *Instructional Science*, 46, pp. 457-488. http://doi.org/10.1007/S11251-017-9438-9
- Weger H., Castle G.R., Emmett M.C. (2010). Active Listening in Peer Interviews: The Influence of Message Paraphrasing on Perceptions of Listening Skill. *International Journal of Listening*, 24, pp. 34-49. http://doi.org/10.1080/10904010903466311